

۲۰. آنالیز

$$y = am^2 + bm + c \xrightarrow{(-1, 9)} y = a(n+1)^2 + 9 \quad \text{با توجه به } 1 = a(1)^2 + 9$$

$$14a + 9 = 1$$

$$14a = -8$$

$$a = -\frac{1}{7}$$

$$-\frac{1}{7}m^2 - \frac{1}{7}m + 9$$

$$y = -\frac{1}{7}m^2 - \frac{1}{7}m + 9$$

$$y = -\frac{1}{7}(m+1)^2 + 9$$

$$\Delta > 0 \rightarrow m^2 - 6(2)(m+4) > 0$$

$$m^2 - 12m - 48 > 0$$

$$(m-12)(m+4) > 0$$

$$\frac{-6}{+} \quad \frac{12}{-} \rightarrow (-\infty, -4) \cup (12, +\infty) \Rightarrow (-4, -6)$$

$$S > 0 \rightarrow -\frac{b}{a} \rightarrow -\frac{m}{7} > 0 \rightarrow -m > 0 \rightarrow m < 0$$

$$P > 0 \rightarrow \frac{c}{a} \rightarrow \frac{m+4}{7} > 0 \rightarrow m+4 > 0 \rightarrow m > -4$$

$$\Delta > 0 \rightarrow (2m-1)^2 - 4(3)(2-m) > 0 \rightarrow 4m^2 + 1 - 4m - 12 + 8m > 0$$

$$S = \frac{1}{p} \rightarrow -\frac{b}{a} = \frac{a}{c}$$

$$\frac{-2m+1}{3} = \frac{3}{2-m} \rightarrow 9 = -(2m+1)(2-m)$$

$$-4m + 2m^2 + 2 - m = 0 \rightarrow 2m^2 - 5m + 2 = 0$$

$$(2m-1)(m-2) = 0 \rightarrow m = \frac{1}{2} \text{ or } m = 2$$

$$m^2 - m - 1 \rightarrow S = -\frac{(-1)}{1} = 1$$

$$(a_1 + m_2)^2 = a_1^2 + m_2^2 + 2a_1m_2 = 1 \rightarrow a_1^2 + m_2^2 = 9$$

$$P = -\frac{c}{a} = -1 \rightarrow m_1 \times m_2 = -1$$

$$(a_1 + \frac{1}{a_1})^2 = a_1^2 + \frac{1}{a_1^2} + 2 = 9 \rightarrow a_1^2 + \frac{1}{a_1^2} = 7$$

$$(a_1^2 + \frac{1}{a_1^2})^2 = 49 \rightarrow a_1^4 + \frac{1}{a_1^4} + 2 = 49 \rightarrow a_1^4 + \frac{1}{a_1^4} = 47$$

$$a^2 - 12\sqrt{5}a - 22\sqrt{5} > 0$$

$$a^2 - 12\sqrt{5}a - 22\sqrt{5} = 0$$

$$1 + \sqrt{5} = \frac{12\sqrt{5} + 22\sqrt{5}}{2} = 17\sqrt{5}$$

$$1 - \sqrt{5} = \frac{12\sqrt{5} - 22\sqrt{5}}{2} = -5\sqrt{5}$$

$$x_1 = y_m y$$

$$y_m y \wedge m y = \frac{r}{y} \rightarrow y x y = \frac{r}{y} \times \frac{1}{y} = x y \times \frac{r}{a} \rightarrow x y = \pm \frac{y}{y} \rightarrow x y = \frac{y}{y} \rightarrow x_1 = y$$

$$y_1 + m y = f m y = \frac{a}{y}$$

$$y_m y$$

$$f x y \times \frac{r}{y} = \frac{a}{y} \rightarrow a \leq 1$$

$$f x - \frac{r}{y} = -\frac{a}{y} = \frac{a}{y} \rightarrow a = -1$$

$$\begin{aligned} 1 - (-1) &= 14 \\ -1 - (1) &= -14 \end{aligned}$$

$$-y - y a = 0 \rightarrow y a = -y \rightarrow a = -\frac{y}{y}$$

$$\min 13 \rightarrow a \in \textcircled{I}$$

$$p=0 \rightarrow \frac{y}{y} \rightarrow 0, + \rightarrow S > 0 \rightarrow -\frac{y - y a}{a} > 0$$

$$\rightarrow \frac{-y}{a} > 0$$

$$\textcircled{II} \left(-\frac{y}{y}, 0 \right)$$

$$\textcircled{I} \cap \textcircled{II} \Rightarrow \emptyset$$

$$y_m y = y_m y$$

$$\frac{-a}{y} = \frac{+y}{-y} \rightarrow y a \leq f \rightarrow a = y$$

$$-x y + b = 1 \rightarrow x y - b + 1 = x y + y_m - y$$

$$-b = -f \rightarrow b = f$$

$$a x b = y x f = 1$$

$$y a m y + a m - y = 0 \rightarrow x_1, m y \rightarrow x_1 + m y = -\frac{a}{y a}$$

$$y_m y - a m + b = 0 \rightarrow (m_1 + 0, 1) + (m y + 0, 1) = \frac{a}{y}$$

$$x_1 + m y + 1 = \frac{a}{y}$$

$$-\frac{a}{y a} = -\frac{1}{y} + 1 = \frac{1}{y} = \frac{a}{y} \rightarrow a = 1$$

$$-y = \frac{c}{a} = \frac{b}{y} \quad b = -4$$

$$\left[\frac{-4}{-f} \right] = \left[-1, 1 \right]$$

$$y_m y + m - y = 0$$

$$f m y + y_m - y = 0$$

$$(y_m + f)(y_m - y)$$

$$x(x+y)(y_m - y)$$

$$-y \times \frac{y}{y}$$

$$\begin{aligned} y_m - y &= 0 \\ y_m &= y \\ m &= \frac{y}{y} \end{aligned}$$

$$-y + \frac{1}{y} = -\frac{y}{y} \quad \frac{y}{y} + \frac{1}{y} = y$$

$$\frac{y}{y}$$

$$x y, m y$$

$$x y + 4 m + m = x y + y_m - y_m$$

$$f a = -f m$$

$$m = -m$$

$$x y + y_m - y_m = 0$$

$$m x m y = -y_m \rightarrow x y = -\frac{y_m}{m}$$

$$x y + 4 m + m = 0$$

$$m x m y = m \rightarrow m y = \frac{m}{m}$$

$$x y - m y = \frac{-y_m - m}{m} = -\frac{f m}{m} = f$$

$$x = -m$$